





2014 Recruiting Presentation

Mission Statement

Team teaches youth the importance of firearms safety while molding the future sportsmen/women of Tennessee Shooting Sports. This is accomplished by instilling the personal values of self-discipline, self-confidence, leadership, responsibility, sportsmanship, commitment and teamwork. WBST's goal is to not only create great athletes, but to create great citizens as well.

Scholastic Clay Target Program

CLICK TO PLAY VIDEO

Scholastic Pistol Program

CLICK TO PLAY VIDEO

Important Information Governance

- WBST has a five member board of directors which govern all team activities. We are an incorporated entity and have 501(3)c tax exempt status.
- This team is wholly funded from the fees that you pay to participate.
- This team is a non-profit organization.
- Fund raising activities supplement the fees that we as parents must pay to participate in this sport.

Important Information Board of Directors

- President of the Board
 - Jim Hartman Shotgun Team Head Coach
- Vice President
 - Bill Huskey
- Treasurer
 - Pam Hartman
- Secretary
 - Joyce Gurley
- Director
 - Paul Carrington Pistol Team Head Coach

Pistol Team Coaches

- Head Coach Paul Carrington
- Coach Tim Ford
- Coach Dave Mott
- Coach Jim Hartman
- Coach Channing Hanley
- Coach Curtis Gurley
- Coach Scott Isbell

- Coach Greg Hart
- Coach Mike Fields
- Coach John Hipps
- Coach Johnny Hanley
- Coach Joyce Gurley

Shotgun Team Coaches

- Head Coach Jim Hartman
- Coach Jim Brabson
- Coach Greg Hart
- Coach Bill Huskey
- Coach Freddie Chambers
- Coach John Hipps
- Coach Danny Harbin
- Coach Rodney Eades
- Coach Tyler Ferguson
- Coach Jamie Hartman

Coaching

- Coaching doesn't begin and end on the field. We encourage parents who wish to get involved. While you must attend an NRA approved Coaches Course to physically coach on the field, we are always in need of Parents to drive fund raisers, provide activity support and most of all to help us instill good practices in these young athletes.
- Parents interested in Coaching can see me after the sign up.

Important Information

- Website: <u>www.wbshootingteam.org</u>
- Email: <u>wbshootingteam@yahoo.com</u>
- Questions about Team Paperwork contact Pam Hartman at 865-805-1809

```
Shotgun Team Information
Head Coach: Jim Hartman
Phone 865-856-5910
Email hartmanjlpm@att.net
Shooting for fun
Competition Shooting
Skeet
Sporting Clays
Trap
No limit on athletes
```

Pistol Team Information

Head Coach: Paul Carrington

Phone 865-253-2821

Email pscarrington@gmail.com

Maximum number of athletes is

32

Speed shooting at steel targets

Eligibility Requirements

- Must be at least nine (9) years old for Shotgun Team and twelve (12) years old for Pistol Team.
- Must be enrolled as a full-time student.
- Must complete and pass Hunter Education Class.
- Must complete all required forms and pay any associated fees.
- Must maintain at least a 2.0 grade point average.

Equipment Needed

- A safe and serviceable firearm.
- Safety glasses meeting ANSI Z87.1 safety standard.
- Ear protection with a noise reduction rating of 29dB (NRR29).
- Closed toe shoes.

Practices Pistol Team

- Are held October 4th thru June 12th on the fourth Sunday of every month from 1Pm to 5Pm.
- Practices are held at Oak Ridge Sportsman Association located at 199 Hermitage Blvd. in Oak Ridge.

Practices Shotgun Team

- September 8th thru June 12th on Monday and Thursday from 5PM to 7PM.
- Monday practices are held at the Blount County 911 Center located behind Newell– Rubbermaid at 1427 William Blount Drive in Maryville.
- Thursday practices are held at the Smoky Mountain Sportsman's Club located at 4286 Miser Station Road in Louisville.

Competitions Pistol

- Virtual tournament times are submitted in April.
- Events as announced by the SPP.
- National Championships are held in July at the World Shooting Complex in Sparta, IL.

Competitions Shotgun

- Three (3) regional tournaments held in May.
 - Sporting Clays held at Lucky 7 Ranch in Sweetwater, TN.
 - Skeet held at ORSA in Oak Ridge, TN.
 - Trap held at Hog Heaven in White Pine, TN.
- State Championships are held in June at the Nashville Gun Club in Nashville, TN.
- National Championships are held in July at the World Shooting Complex in Sparta, IL.

High School Lettering Criteria

- Must remain in good standing as a member of the team throughout the full season.
- Must participate in given program for at least two (2) years.
- Must attend at least 70% of weekly practices.
- Must compete in a regional competition.
- Must maintain a 2.5 GPA.

Tennessee Hunter Safety Course

- Meeting September 19th 6:00pm to 9:00pm and September 20th 9:00am to 5:00pm.
- Located at the Alcoa Police Department 2020 N. Wright Road Alcoa, TN.
- Only 50 seats available.
- Register at TWRA site
 - www.register-ed.com/events/view/51528

Costs - Shotgun Team

Cost to Practice						
DESCRIPTION	NUMBER	BER COST		SUBTOTAL		
Yearly minimum cost for shooter excluding shotgun						
TNSCTP membership	1	\$	30.00	\$	30.00	
Normal practices - range charge	56	\$	5.00	\$	280.00	
Sporting Clays practice - range charge	2	\$	20.00	\$	40.00	
Cleaning supplies	1	\$	20.00	\$	20.00	
Ammo needed for practices (average cost per box)	64	\$	5.65	\$	361.60	
Minimum cost total				\$	731.60	
One Time purchases for shooters						
Average cost of new shotgun	1	\$:	1,000.00	\$	1,000.00	
Shooting vest	1	\$	25.00	\$	25.00	
Range bag	1	\$	50.00	\$	50.00	
Gun case	1	\$	20.00	\$	20.00	
Choke tubes (extra not included with gun)	2	\$	50.00	\$	100.00	
One time purchases total				\$	1,195.00	
Optional Items						
Youth Trap Shoot at Hog Heaven - Range Fee	1	\$	30.00	\$	30.00	
ATA & AIM 1 yr. membership	1	\$	25.00	\$	25.00	
NSSA 1 yr. membership	1	\$	20.00	\$	20.00	
NSCA 1 yr. membership w/ magazine	1	\$	20.00	\$	20.00	
USA Shooting 1 yr. membership	1	\$	20.00	\$	20.00	
NWTF membership	1	\$	10.00	\$	10.00	
Optional items total					125.00	
Items if you purchase a shotgun and participate in most activities				\$	2,051.60	
Total Items if you own a shotgun and participate in most activities				\$	1,051.60	
What most first year shooters spend				\$	966.60	

Costs - Shotgun Team

Cost to Compete						
DESCRIPTION	NUMBER		COST		TOTAL	
Regional Competitions						
Ammunition needed to compete in all three events (average cost per box)	15	\$	5.65	\$	84.75	
Skeet enry fee (based on last year)	1	\$	25.00	\$	25.00	
Sporting Clays entry fee (based on last year)	1	\$	35.00	\$	35.00	
Trap entry fee (based on last year)	1	\$	30.00	\$	30.00	
Uniform shirt	2	\$	25.00	\$	50.00	
Uniform hat	1	\$	13.00	\$	13.00	
Regionals total				\$	<i>237.75</i>	
State Championships						
Ammo needed to compete in all three events (average cost per box)	15	\$	5.65	\$	84.75	
Skeet entry fee (based on last year)	1	\$	35.00	\$	35.00	
Sporting Clays enry fee (based on last year)	1	\$	55.00	\$	55.00	
State lodging and food (daily average)	6	\$	200.00	\$	1,200.00	
Trap entry fee (based on last year)	1	\$	35.00	\$	35.00	
State total				\$	1,409.75	
National Championships						
Ammo needed to compete in all three events (average cost per box)	30	\$	5.65	\$	169.50	
National SCTP membership	1	\$		\$	20.00	
National lodging and food (daily average)	6	\$	175.00	\$	1,050.00	
Skeet fee (based on last year)	1	\$	78.00	\$	78.00	
Sporting Clays fee (based on last year)	1	\$	112.00	\$	112.00	
Trap fee (based on last year)	1	\$	75.00	\$	75.00	
National totals				_	1,504.50	
Total cost to compete in all activities					3,152.00	
Total cost to compete in all regional activities					1,647.50	
What most first year shooters spend				\$	<i>237.75</i>	

Costs - Pistol Team

Cost to Practice						
DESCRIPTION	NUMBER	COST		SUBTOTAL		
SPP membership	1	\$	20.00	\$	20.00	
Practices (travel too and from Maryville average cost)	20	\$	10.00	\$	200.00	
Cleaning supplies	1	\$	20.00	\$	20.00	
Minimum cost total				\$	240.00	
One Time purchases for shooters						
Range bag with pistol sleeve	1	\$	50.00	\$	50.00	
One time purchases total				\$	50.00	
National totals				\$	<i>375.00</i>	
Cost for a .22cal firearm						
Average cost of new 22 firearm	1	\$	300.00	\$	300.00	
Average cost of extra magazines	3	\$	18.00	\$	54.00	
22 ammo needed for practices & competitions (boxes of 50)	120	\$	2.86	\$	343.20	
22 firearm total				\$	697.20	
Cost for a 9mm firearm						
Average cost of new 9mm firearm	1	\$	430.00	\$	430.00	
Average cost of extra magazines	3	\$	25.00	\$	75.00	
9mm ammo needed for practices & competitions (boxes of 50)	120	\$	11.30	\$	1,356.00	
9mm firearm total					1,861.00	
Cost to Practice with your own firearm .22cal				\$	687.20	
Cost to Practice with your own firearm .9mm				Ş	1,596.00	
Cost to Practice with purchase of a firearm .22cal				<i>Ş</i>	987.20	
Cost to Practice with purchase of a firearm .9mm				\$	2,151.00	

Costs - Pistol Team

Cost to Compete							
DESCRIPTION	NUMBER		COST	SUBTOTAL			
Competitions							
Virtual Match fee (based on last year)	4	\$	1.00	\$	4.00		
Local Match entry fee (based on last year)	4	\$	10.00	\$	40.00		
Uniform shirt	2	\$	25.00	\$	50.00		
Uniform hat	1	\$	13.00	\$	13.00		
National Championships							
National entry fee membership	1	\$	25.00	\$	25.00		
National lodging and food (daily average)	2	\$	175.00	\$	350.00		
Cost to Compe	te			\$	482.00		

Questions?